Potencias de 10 (C)

241073

92 =103

46 +1073

98+ 1073

701073

421073

66103

18=1072

641073

66+ 1073

Calcule los siguientes cocientes.

721073

231073

641073

79 =103

93 +1073

44 +1073

58 +1073

86 +1073

97 1073

77 =103
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Potencias de 10 (C) Respuestas

24+1073
24.000
92 =103
92.000
461073
46.000
98 =103
98.000
701073
70.000
42 +1073
42.000
66+1073
66.000
181073
18.000
64103
64.000
661073
66.000

Calcule los siguientes cocientes.

72+1073
72.000
231073
23.000
641077
64.000
79 +1073
79.000
931073
93.000
44 +1073
44.000
581073
58.000
861073
86.000
97 +10~3
97.000
771073
77.000
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